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QUESTION 1

Which of the following wireless security features provides the best wireless security mechanism?
A. WPA

B. WPA with Pre Shared Key

C. WPA with 802.1X authentication

D. WEP

Correct Answer: C

QUESTION 2

You work as a technician for Net Perfect Inc. You are troubleshooting a connectivity issue on a network. You are using
the ping command to verify the connectivity between two hosts. You want ping to send larger sized packets than the
usual 32-byte ones. Which of the following commands will you use?

A. ping -a

B. ping -4

C. ping -t

D. ping |

Correct Answer: D

QUESTION 3

You work as a Network Administrator for McRobert Inc. Your company has a TCP/IP-based network. You want to get
the protocol statistics and the active TCP/IP network connections of your computer. Which of the following will you use?

A. IPSTAT
B. SNMP

C. ARP

D. NBTSTAT
E. NETSTAT

Correct Answer: E

QUESTION 4
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Which of the following is an asymmetric encryption algorithm?
A. Blowfish

B. RC5

C. Diffie-Hellman

D. RC4

Correct Answer: C

QUESTION 5

John works as a Network Security Administrator for NetPerfect Inc. The manager of the company has told John that the
company\\'s phone bill has increased drastically. John suspects that the company\\'s phone system has been cracked
by a malicious hacker. Which attack is used by malicious hackers to crack the phone system?

A. War dialing

B. Sequence++ attack

C. Phreaking

D. Man-in-the-middle attack

Correct Answer: C
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